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SSC GD 2022-23

A sum of money at compound interest amounts to seven times of itself in 3

years. In how many year will it be 2401 times of itself?
Tk W91 Tshalfg SATS UX 3 AT W € ST AT AT &1 ST ¢l al foha~ aui H a8
T T 2401 TAT &1 T2

a) 9

b) 12
c) 18
d) 15
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The average monthly income of A and B is Rs. 4,500, the average monthly
income of B and C is Rs. 5,600 and the average monthly income of A and C is
Rs. 4,800. Find the monthly income of B.

A 3R B T ST AT 3T 4,500 TG &, B 3R C Y 318 ATk 37 5,600
TUY 2 AT A 3TR C <kl 3T AT 3T 4,800 TUY 2| a7 B <hT HT¥eh 31T FTd

iU

a) Rs 6,900
b) Rs. 4,750
c) Rs. 7,700
d) Rs 5,300
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In a family 5 people spend 10% on the purchase of sugar. The price of sugar
increased by 10%. What should be the percentage decrease in the consumption

of sugar so as not to increase the expenditure?

T UNaR § 5 zafth =it i @lig W 10% T w2 S F T 7 10% H
qfeg Bl g1 AT 9 W FAleg T T o o ToTT =T T Trua W Afa9Ta wHt T gl

ATRT?

a) 11%
1
b) 9—%
11
c) 10%

d) 9%
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Varun bought a curtain cloth from a wholesaler at 20% discount on the
marked price. He then marked the cloth at 20% higher than the original

marked price and allowed 10% discount. What is his percentage profit?

THUT Tehs ofieh SATAT & Sifehd e TR 20% B¢ W UG &1 husT Tiiedr gl =g
HUS T HEA 3iTehd TeT & 20% 3TFerh Sifeha et & 3R 10% B hY SATH{ a0
BN AT SHRT ger9Ta T T B2

a) 25
b) 20
c) 30
d) 35
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One-fifth of three-eights of two-thirds of a number is 20. What is 60% of that

number?

Ueh AT & 31-{d8T8 o o -31T3a ST Tieral WIT 20 1 7 39 AT 6T 60% T
&7

a) 120
b) 156

(SN
Q\’ -:'Lj > c) 365

d) 240
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The average weight of 6 persons is increased by 1.5 kg when a new person

replaces the one whose weight is 45 kg. How much should a new person weigh?

6 STTTRAT hT T I 1.5 TRIT I ATAT 8 I 340 H 45 TRIT 919 9Tl A6 6

TAT U AT ST 1<k ATAT 2| 7T AR T T Teha-T BT ATET?

54 kg
55 kg
50 kg
48 kg
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If0.35:x::5:6, then what is the value of x?
IR 0.35:x::5: 6%, al x T HTF fhaqT 272

0.48
0.42
0.34
0.44
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Find the single discount equivalent to two successive discounts of 25% and
10%.

25% AR 10% <hT ST THATTA Tl & AT Uehel T AT hITTl

a) 28%

| b) 40.25%
6@> c) 32.5%

e d) 45.5%
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For a certain sum, in 2 years, the simple interest is Rs. 80 and the compound
interest for the same period at the same rate of interest is Rs. 85. The rate of

interest per annum is:

ueh fAtara wivr & foru, 2 oot &, |rerr saTst 80 TUH 7 A1 IHT Irafer o foru
FHT ST 3 UR TShaTg, AT 85 TN §l AT ATTHeh AT hi X &:

a) 7.5%
b) 8.5%
c) 12.5%
d) 5.5%
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Pipes A nd B can fill a tank in 18 hours and 27 hours, respectively. If both the
pipes are opened on alternate hours, one at a time, and pipe A is opened for the

first hour, then in how many hours will the tank be filled completely?

QTS A 3T B Ueh &k h1 ShATT: 18 B¢ 3R 27 € | WX {ehd 8| A A1 q189T i
Teh-Ueh U¢ W TNEAT ATAT 8, R UTST A i TS ©e b o1 WIEAT ATl &, Al eeh
oy w2 3 ot g & S T

a) 21
b) 201/2
c) 20
d) 211/2
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A trader allows a discount of 10% on the marked price and still gains 8% on

the whole. At what percentage above the cost price does he mark his goods?
U AT 3ifehd 7o W 10% <hY D€ a1 § 37 fRe +ff o8 OX ux 8% T 197 UTH
AT Tl TE AT T T 36 o | Toha Tfarorer atferes w sifera ovear 22

a) 35%
b) 25%
c) 18%
d) 20%
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How many maximum litres of milk can a hemispherical bowl of diameter 9 cm

hold approximately?
9 BT} SATH o Teh ALTIATRT shek 7 STfereman fohe ofiex 39 2 wenaT 82

a) 0.191 litres
b) 0.90 litres
c) 0.0191 litres
d) 1.90 litres
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The ratio of the number of girls and boys in a school is 2 : 7. If the number of
girls and boys are increased by 15% and 20% respectively, then what will be

the new ratio?

TeRtlt forerTeT™ W eTefoRat 3T TTgeht Sh HEAT T 31U 2 : 7 §| ATS AS(hal 3R
TSR shl HTAT | THUI: 15% 3R 20% hT Afeg, 7T SATAT 5§, A1 14T Sr7ATa feha=r
TITT?

a) 23:84
b) 19:14
c) 24:71
d) 21:22
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